GRE UPPER PRIMARY SCHOLARSHIP EXAMINATION (Std. 5t"), FEBRUARY 2018 \

Seat No.
Paper No. II Medium : Telugu Time: 1:30 to 3:00
. Third Language and Intelligence Test
@ges 32 guag g Total Marks :ly
Read the following instructions carvefully before you answer the questions.
(1) This question paper contains two sections. In Section I there are 1 to 25 questions of Third Language
and in Section II there are 26 to 75 questions of Intelligence Test. All 75 questions are compulsory.
(2) All questions carry 2 marks each.
(3) Time limit to solve the question paper is 90 minutes.
(4) Separate answer sheet is given to record the answers. Each question has been given four alternatives.

)

(6)
(7
(8)
)

(10)

(11)
(12)

(13)
(14)
(15)

Read them carefully. Select the correct answer and shade the correct answer in the answer sheet.
Example :— If the correct alternative for Q. No. 6 is 2, then record your answer as follows:

Question No. 6 QO @ B ®@

Answer recorded in any other form will not be considered. Such answer will be credited with 'Zero' mark.

Example: @ @ ® ®

Use blue or black ball pen to darken the circle. Pencil is not allowed. Circles darkened by pencil will
not be credited.

Once you have darkened the circle as correct alternative you cannot change it.

If more than one circle are darkened or overwriting is done, the answer will not be accepted.

The rough work is to be done in the space given under each page do on the last page or the question
paper.

If you do not know the answer to any question, do not spend much time on it and pass on to the next
one. If the time permits you can come back to the question which you have left in the first instance
and try them again.

If you find any question incomplete or with error, then or not ask anything to the Supervisor or
Centre Incharge.

For any error/mistake/objection issues, school or parents should not send written application to Block
Education Officer or Education Officer. These error/ mistake/objection issues should be register
online through respective school login only.

The error/ mistake/ objection issues should be register online within 10-days from the publication of
Interim answer key on MSCE website.

Questions can be cancelled due to printing mistake or any other reason, on the basis of the suggestions
given by the Committee of Experts.

Along with the question paper of the respective medium, the English version of question paper is
also provided. In case of doubt please refer to the English version of the same question.

| 0702-A | P.T.O.




favmr 1
qaArg 9THT

Instructions for Q. Nos. 1 to 3 : Read the passage carefully and answer the
following questions.

The horse is a common tame animal. After the cow, buffalo and the goat; it
is the most useful animal. A horse is used for riding, in hunting. It draws our
carts. It is very faithful.

1. Select the correct option.

The horse is most animal.
(1) useless (2) harmful (3) careless (4) useful

2. Choose the animal which is not mentioned in the given passage.
(1) cow (2) bullock (3) buffalo (4) goat

3. Select the correct alternative.

A horse is not used for

(1) riding (2) drawing carts
(3) nothing (4) hunting

4. Select the mismatched pair.
(1) actor — tractor (2) cricket — sachet

(3) tower — power (4) plastic — elastic

5. Observe the picture carefully and select the proper motto.

/

(1) We love books (2) Protect all animals
(3) Health is wealth (4) Protect all plants

| 0702-A | P.T.O.




6. Arrange the numbers properly and make the meaningful word.

8

9

a T c

f t

\Y 1 u 0

1 2 3

4 5

6 7 8 9

(1) 41893762

(2) 416982753 (3) 213457698  (4) 541628739

. The sign |_} indicates that one should
(1) go straight (2) turn left (3) up ward (4) turn right
. Select the correct alternative.
We should cut our nails .
(1) daily (2) early (3) carelessly (4) regularly
. Choose the correct alternative.
Type 0|f Plants
shrub ? cactus climber
(1) bud (2) root (3) stem (4) herb

10. Choose the correct option for making a request.

My friend Arnav forgot his eraser and wants to borrow it

(1) I brought your eraser.

(3) Can I give my eraser to you?

(2) Please, give me your eraser.

(4) Find my eraser.

11. Complete the grid by choosing proper set of alphabets.
c
r
s|t|r|i h
w r
a
n
ajg|l]e
(1) a,i, g (2) p. k, 1 (3) o,k e (4)o,¢c,e
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12. Choose the correct option for the given word.

shape
(1) aroma (2) rough (3) brick (4) vapour
13. Select the correct punctuation mark that mentioned in the given sentence.
Well done Rahim!
(1) Exclamation mark (2) Question mark
(3) Full stop (4) Comma

14. If pigs: squeal : then wolves : ?
(1) howl (2) growl (3) squeak (4) croak

15. Observe the picture and choose the correct expression.

(1) How sad! (2) What a surprise?
(3) How miserable! (4) What a pity!
16. Fill in the blank by using the correct article.
The cow is useful animal.
(1) an (2) a (3) the (4) no article.

17. Select the correct option.
Vedant and his team won the football match.
Their friends said,

(1) Congratulations! (2) Best of luck!
(3) Happy birthday! (4) Good bye!

18. Choose the correct sentence showing correct position of a comma (,).
(1) I ordered potatoes, sugar, eggs, and coffee.
(2) 1 ordered, potatoes, sugar, eggs and coffee.
(3) I ordered potatoes, sugar, eggs and coffee.

(4) I ordered potatoes sugar eggs, and coffee.
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19. Select the correct option.

(1) toss (2) spill (3) blink (4) stitch

20. Solve the riddle.
It has three blades. They go round and round.

It gives cool air. What 1s it?
(1) afan (2) alamp (3) arefrigerator (4) an oven

21. Select the correct speech for the given picture.
(1) What's wrong?
(2) I don't know.
(3) I can't hear you.
(4) 1 don't like it.

22. Select the suitable phrase for the given sentence.
there lived a Kking.

(1) Long long ago (2) Many years from now
(3) Day after tomorrow (4) Just now

23. Choose the correct punctuation mark for the given sentence.
Are you ready:
(1) Full stop (2) Question mark (3) Comma (4) Apostrophe

24. Fill in the blanks with the correct option.

I wash my hands and eating.
(1) near and close (2) up and down
(3) over and under (4) before and after

25. Select the proper alternative.
I brush my teeth a day.
(1) two (2) twice (3) too (4) first
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Section I
Intelligence Test

0 26 A, DRI D0, FEd, dgoew, DA DW, DE, WgHL, FED. &
DTS’ VOOT LT DT S 5°d§°:>5 ATV DT D) SE) D S
NEVRS L ?

(1) 338y (2) 1 B (3)38d (428

0%) 27 200G 31 EEL ATDED:- DIFTHNHL BoBD VBBV (1Bow0E.
27.(1) 17 (2) 290 (3) 730 (4) 71
28. (1) 319 (2) 232 (3) 251 (4) 174

29. (1) 260 BD  (2) BSogpen  (3) F&otren (4) Ersmraen

HeAT HEEST ST
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Section 11

Alphabets :

Intelligence Test

26. '""Merit consists in doing good to others, sin in doing harm to others.' In
this sentence how many words having five letters each are more or less than

the words having two letters each?
(4) more by 1

(1) more by 2 (2) less by 1 (3) less by 2
Instructions for Q. Nos. 27 to 31 : Find out the odd term.
(2) 290 (3) 730 4) 71
(3) 251 (4) 174
(3) Prepaid (4) Preposition

27. (1) 17
28. (1) 319 (2) 232
29. (1) Preliminary (2) Prehistoric

Space for Rough Work
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31.(1) &{‘ll 2) ?0‘

3) k}. ) /) %S

9%) 32 8008 33 EBLH R0redden:- §od RogriurrdEes’ ) D) 0 FdoeS” Setidy
2080 DT°(ODEVO od  Dodoct:

32. 114, 85, 62,43, ? 13
(1) 26 (2) 18 (3) 24 (4) 21

33. 11, 12, 16, 52, ? 92, 96
(1) 77 (2) 56 (3) 61 (4) 83

34. 900 TP GIE); &SGo D 10 D SrGoeS’ QRONT®) €. G238 T°o8D0
DD 20 D 6o’ Jved &) . VoS BE ToRWLH D 63 Jwed
&) ¢o?

(1) &y (2) DSBS (3) &0 (4) &880

THoAT HTHTETST ST
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Alphabets: ABCDE FGHIJ KLMNO PQRST UVWXY

%

RS

N

31. (1) )

RS
¥

%

s

Instructions for Q. Nos. 32 to 33 :Observe the number series and find the correct
alternative to replace the question mark. (?)

3)

2
S

N>

%
W

32. 114, 85, 62,43, 2 13
(1) 26 (2) 18 (3) 24 (4) 21

33. 11, 12, 16, 52, ? 92, 96
(1) 77 (2) 56 (3) 61 (4) 83

34. Aman is standing 10 metres away from Obama facing North and 20 metres
away from Rafiq facing NORTH-WEST, then in which direction is Rafiq
standing to Obama?

(1) East (2) West (3) North (4) South

Space for Rough Work
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35. Sob DT HOHES D BLHBOVL ¢ DIV 90 DEDYONB D €S 930S’
60) & &) 0T SADOTRN?

M) HTH 2 |[YNY

3| ZI 4 |0S0

36. Sob Q) 8B ABE);, B eacgoeS" , DO SRV, A DTHOZDVL 23T°e
e28 00 ok (Bodod.

Q?Q’S‘)@

(D (2) 3) 4

37. e300 6 FOETGA0 VOIS, B JS” DHB LOGICH W), B
Doeh?
(1)31 (2) 25

(3) 27 (4) 30

THoAT HTHTETST ST
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Alphabets: ABCDE FGHIJ KLMNO PQRST UVWXY

35. If the mirror is held from the left side of the given figures. which figure will
look as it is?

M [HTH 2)|[YNY

3| ZI 4 |0S0O

36. Find the correct figure from the alternatives which is the mirror image of
the question figure.

Question Figure

(1) (2) 3) 4

37. If 6th August was Friday, then in the same month what date it will be on
last Wednesday?

(1) 31 (2) 25
(3) 27 4) 30
Space for Rough Work
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38. Question Figure

1) 988

083

TOTTIE YR TLE T

(2)

~3b

Q 39 Q’o""lg‘)é

A
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4

0702 — A

THoAT HTHTETST ST

P.T.O.




Alphabets: ABCDE FGHIJ KLMNO PQRST UVWXY

Instructions for Q. Nos. 38 to 39 : Select the correct figure that is water image
of the question figure from the alternatives.

080

TITRRETTT TR

38. Question Figure

0 |288|°| 286> |59 | *| asp

39. Question Figure e

AN
e

I TTTTTT I TS

AN AN AN

(1 (2) 3) 4
S =< K

Space for Rough Work
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40. S c30E) Bocsd DY Ber 25 @G 2009 Ferd 3ITEAD oG, VoD
eI & TPG DBod?

(1) QP80 (2) SvoriForEaan
(3) 0G0 (4) OGOTCAD

41. 308 VLIV’ D VEBAVLD VATV &%) 07

gssr0: ABCDBACADCDACDBC

(1) A S08a50 D (2) D &08ai0 C

(3) A H08050 B (4) D 206050 B

3) §.42 200G 46 E6LH Wrcddven:- o8 HBY VS VD LOBAKW Toctkd DTV
0830630080 (DBOIOG. 9B WOLIOEIN AT B3 TPV DTPVL (.
OND PB) D)0 R0 QD Do HesoyR0?

Q
2

42. B : D6 : e.‘)a"bo . ?

(1) orod) (2) i (3) BDHPE (4) o(3eS°S
43. 3564 : 6 ::7827 :?

(1) 2 (2) 8 (3) 12 (4) 10

44, 36 :10::27:?
(1) 26 (2) 16 (3) 15 (4) 24

THoAT HTHTETST ST
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Alphabets: ABCDE FGHIJ KLMNO PQRST UVWXY

40. Rekha's second birthday was on Saturday 25th July 2009, then on what
day was she born?

(1) Monday (2) Tuesday
(3) Wednesday (4) Thursday

41. In the given alphabetical series which letters are repeated same number of
times?

Letters: A BCDBACADCDACDBZC

(1) Aand D (2) Dand C
(3) Aand B (4) Dand B

Instructions for Q. Nos. 42 to 46 : There exists a certain relation between
first and second term. The same relation exists between third and fourth
term. Considering this choose the correct alternative to replace the question
mark (?)

42. Goa : Panaji: : Aassam : ?
(1) Ranchi (2) Kohima (3) Dispur (4) Gangtok

43. 3564 :6::7827:?
(1) 2 2) 8 (3) 12 (4) 10

44. 36 :10::27:?
(1) 26 (2) 16 (3) 15 (4) 24

Space for Rough Work
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. [T

(1) 2) 3) T N C))

“ A\ Y )

IRV @ 0(@) o)

47. So& ;boars&ré)éessb oS gvaom DPOND ST ) VD Doggen
SISO ? ‘

Dogriardse:- 31,59, 35,19, 17, 34, 16, 89, 74

(1) 3 (2) 7 3) 4 (4) 6

THoAT HTHTETST ST
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Alphabets: ABCDE FGHIJ KLMNO PQRST UVWXY

. [T

(1) 2) 3) T N C))

o\ o s (A ) @ @

47. By interchanging the digits of the numbers in the given number series how
many Prime numbers will form?

Letters: 31,59, 35,19, 17, 34, 16, 89, 74

(1) 5 (2) 7 (3) 4 (4) 6

Space for Rough Work
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48. |wgssrw; ABCDE FGHIJ KLMNO PQRST UVWXY

2 EBIreS” ‘G ook R g 265 IJ) egsswen fod oy
L0 3/5 580 0£65000 §08 TR D LT 0dss (D?

(1) 'B' 08050 'H' (2) 'K' 208050 'S'
(3) 'H' &06a3» '0' (4) 'D' S08050 'H'

©3) 49 Sodoin 50 §65 doeddden:- Q&Qé Q) S)BG &) & &R eorto
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7
O 49. 2780 e85y D % %
7
| N 1 | % 7
o NN @ [[[ DY) D (@%/’///
N\ = 7 7

2 50. 22070 e38y8
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Alphabets: ABCDE FGHIJ KLMNO PQRST UVWXY

48. | Alphabetical Series : ABCDE FGHIJ KLMNO PQRST UVWXY

3
Find out between which two letters the 5 th of the letters between G and
R occurs in the above alphabetical series.

(1) Band H (2) Kand S (3) Hand O (4) Dand H

Instructions for Q. Nos. 49 to 50 : Find out the figure from the alternatives
which exactly matches the question figure.

Y
49. Question Figure %/ ///
%
' \‘ \ N ' //% Y %/
N
N = . 7
50. Question Figure
(D (2) 3) 4
Space for Rough Work
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51. 8ob (RS HB) Vi) 0 FR0eS” Hrivy Doy VOjAIrRES” dX0) Eod.

2 [ 85
7139
32| 4

(1) 1 2) 0 3) 6 (4) 10

©3) 52 0003 53 §8LH Drden: $o& DO ~ A 08290, AEHD 03 0D
BT LN DTSV oG (oot

>

52. Sdeo Gabazo, Ed00 LoByPo O SDvo BENBo BS WoSw Ao
Doch?
(1) 16 (2) 23 (3) 15 (4) 27

53. Soch es8 oS e @08 D&?
(1) 4 (2) 5 3)9 4)3

54. 208 0B RS’ 5'R0 4, ‘IR0 77, ‘4 R0 2 9D0NS 938 JoSBE S’
(1) 19 (2) 36 (3) 30 (4) 60
el hIATETST SR
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Alphabets: ABCDE FGHIJ KLMNO PQRST UVWXY

51. See the number arrangement and find the number that will replace the
question mark from the alternatives.

2815
71309
31214
(1) 1 2) 0 (3) 6 (4) 10

Instructions for Q. Nos. 52 to 53 : Observe the given Venn diagram and answer
the questions based on that by selecting the correct alternative.

/>

52. What is the total of the numbers given in the triangle, oval and hexagon
only?

(1) 16 (2) 23 (3) 15 (4) 27
53. Which number is common in the three figures?
(1) 4 (2) 5 39 43

54. In a code language 'S' is called '4', '3' is called '7', '4' is called '2', then in
the same language 4 + 3 x 5 = ? (how much)

(1) 19 (2) 36 (3) 30 (4) 60

Space for Rough Work
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55. 208 PoEAE NS’ X 903 %7 e

14 @=10

3@L71=13

2900 42 ® [ = doh?

(1) 4 2)9 (3)6

(43

©3) 56 oc 60 §8H Ardden:- I3 F6023085° QU DO QOEICOD,
o8 § Q) @éséée) HOR, T 208 DAeT0 fbdbdom. IO & DAVIIEDS

RoAD DS XJU°5050‘°O o Z)%‘)oooocﬁo&,:

56. OB, E3DOBBOLD, (oG
(1) rens (2) S0 (3) seFoso

57. 343,27,125
(1) 216 (2) 261 (3) 49

58. 8525, 7612, 9372 :
(1) 5824 (2) 6083 (3) 3701

- SIGR
(D) [§ (2) h

SIVAN

(4) S“&'Oq)

41

(4) 9824

@ R

THoAT HTHTETST ST
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Alphabets: ABCDE FGHIJ KLMNO PQRST UVWXY
55. In a code language ® means + 7
like wise 14 ® @ =10

3@1=13
Then 42 ® 1= how much?
(1) 4 2) 9 (3) 6 4)5

Instructions for Q. Nos. 56 to 60 : In each of the following questions three
words are given with some common relation, so their group is formed. Select
the word from the alternatives given which has the same common feature of
the given group.

56. Brain, Lungs, Heart,

(1) tongue (2) hand (3) liver (4) leg

57. 343,27, 125,

(1) 216 (2) 261 (3) 49 4) 1

58. 8525, 7612, 9372,
(1) 5824 (2) 6083 (3) 3701 (4) 9824

=GR
(D Elg (2) i

o /N @ &

Space for Rough Work
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AN sl
(1 (2) A 3) 4) A

61. 06 008D DOV T BLPEHNED 03) 0D BereL DT°HODVV
Q0o BoLIOC:

dosyew| A |V | @ |+ | x| < | #F | =

"'POOR' A8 ABE DcSo e TP ?
(1) #<<= 2)=x@+

3) £#AV 4)=xV+

62. ¥3) Vo) o g‘%‘éoé‘s D0y VoY DTHOBVL dod docdoct:

B B ) A\

(1) 2 (2)5 (3)4 4)3
THoAT HTHTETST ST
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Alphabets: ABCDE FGHIJ KLMNO PQRST UVWXY

60.

(1) ) 3) (@) /\

61. In the following table letters are replaced by symbols.

Letters A B C H I O P
Symbols A \ 4 o + X < +

=

Using above symbols, how will opposite of 'POOR' be written?
(1) #<<= 2)=x @+
3) £#AVY 4)=xV+

62. Observe the arrangement of numbers. Find the correct alternative to replace
the question mark (?)

B ) ) S\

(1) 2 (2) 5 (3) 4 4)3

Space for Rough Work
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63. Sob es8)AVES” PBIERD LI (. W 1D HBY VT 0 P
D €35 SN Bocsod: '

@ICICK

Ol @ @> (3)(@ @)

64. D00 DY, DO L0Be, KI0BLVKD DOST®0, DoLIPoR €85Y) 9 @930 30008
A0X 2PAOD 208805 VO?

(1) 29 (2) ode (3) Do (4) 2oiro

65. 8od D)o JrdES” P D)o gveooes‘* D D3 O DIUPETPO HE8NED?
oc® 10 JNee00OC,00C%es, ¢, OeDIC

1) % a0 0 2 e G100
3 Yo CeOD 4 (e

66. S00 DogEHIrdLS D B3y DBV Mool
11,27, 51, 83, 102, 171
(1) 51 (2) 27 (3) 171 (4) 102
oA hTHTETST ST
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Alphabets: ABCDE FGHIJ KLMNO PQRST UVWXY

63. There is a typical order in the given figures observe them and select the
corrct alternative to replace the question mark (?)

@

7

&

(1 (2)

3 f@/ @) @

64. If elephant is called tiger, tiger is called rabbit, rabbit is called lion, and lion
is called bear, then who will be called our national animal?

(1) tiger (2) rabbit (3) elephant (4) lion
65. Observe the given series and find out which symbols will replace the question
mark (?)
oc® 10 JNee00C,00C%es, ¢, OmDIC
1) % eec>00 2 e G100
3 Yo CeOD 4 (e C

66. In the given number series find out the odd term.

11, 27, 51, 83, 102, 171
(1) 51 (2) 27 (3) 171 (4) 102

Space for Rough Work
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67. O 67 28 Jo8AE 7S’ BAT = 278, ANT = 276, NET = 765 @e° Tordd.
9000B3 98 o8AE eNeS” BEAN 0DE0&0 Jer ored)?  (eogore Sudasn

&:55‘)“0 000 2,8 DGO 08003 6:33&630.)
(1) 8572 (2) 8526 (3) 7685 (4) 8356
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(3) OBy FPAPRE S0 LSOO e 0.
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B, z‘:)a‘lm& LRB0 00DV % o& S:JDQ, 2 ‘a)obefsbmw as.)z)b (.
0B, B How 42 R0DBNT"eD eé&g’ooooé &é&m& G0t RoDBNT°V
S0 DO Doh?
(1) 43 (2) 45 (3) 47 (4) 40

70. S0 35BS 2o A Jgveren (wi?
(19
(2) 13
(3) 15
4) 12

O 71 DEord HAMDoBo VBES’ 22D B0 93PS EoRRD. TG 0B
Ra6L D06 Edvo o GoGa. D SOOI WITIE B¢ SRS
€508, ©9000B Y a0 D EoG?

(1) (2) 26 (3) Ao (4) e90e8)
el HTHTEST ST =
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Alphabets: ABCDE FGHIJ KLMNO PQRST UVWXY

67. In a code language BAT = 278, ANT = 276, NET = 765, then in the same
code how 'BEAN' is written? (It is not necessary that the order of the letters
and number is same.)

(1) 8572 (2) 8526 (3) 7685 (4) 8356

68. From the given statements whose activity is incorrect. Choose the correct
alternative.

(1) Aditi prepares compost manure from the dried flowers and leaves.
(2) Sharvin always brings things from the market in plastic bags.
(3) Rukhsana actively participates in the social activities.

(4) Palak promotes antipollution advertisement.

69. A son's present age is 4 less than % of the mother's present age and 2 more

than 3 rd of the aunt's present age. If the present age of his mother is 42

years then what was the age of his aunt two years ago?

(1) 43 (2) 45 (3) 47 (4) 40

70. How may triangles are there in the given figure?
(H9
(2) 13
(3) 15
(4) 12

71. In a running race of 5 students, Ahmed was ahead of John. Gautam was
between Ahmed and Sameer. Harbhajan was between John and Ahmed.
who was at the centre?

(1) John (2) Sameer (3) Gautam (4) Ahmed

Space for Rough Work
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72. S06 e353800e5" IO DEIOTT KIATPD LIT°EEY) LT ED B8, 008) VA0S
TP(O° 28 PBE)D BAIPE WAIYONB PSS AVG0 ) BV €07

(1) 12 2) 8 (3) 10 4) 11

73. 1.5 8" 0 TeHiv ered AEOPDL 60 D Sr6oes” 28 RS Yodso, &Y
DS GO DS Poerren JVBQDS A PoaTew WHVEH?

(1) 25 (2) 26 (3) 50 (4) 52

74. $08 e98)BS° BAWNEPV Do A ?

(1) 3 (2) 4 (3) 7 (4) 6

75. &PTriosn S603ES” ToDy SEHAS” RGO DY D¢ Fed FBoFD0s.
90008 DG BGAA BTV L D SSBEBRVD BYPE?

(1) %0y AW e Fesd BPE oo

(2) Fessd 2200 DRoPo 80D SEHA &I G oIS BF.
(3) RGOS HINBDY D0 e HODSB) 0 BYPR.

(4) & RGO DO

THoAT HTHTETST ST

0702 - A P.T.O.




Alphabets: ABCDE FGHIJ KLMNO PQRST UVWXY

72. The clues of same dimension are arranged according to the given figure
and a new figure is formed. How many faces will be there of such figure?

(1) 12 2) 8 (3) 10 (4) 11

73. If the electric poles are erected at 60m distance on 1.5 km long road on both
the sides, how many poles will be erected?

(1) 25 (2) 26 (3) 50 (4) 52

74. What is the number of quadrilaterals in the adjacent figure?

(1) 5 (2) 4 (3)7 (46
75. The teacher is not in the class and two students enter into a quarrel. What
will you do as a monitor?
(1) You will see how they fight.
(2) Inform the subject of fight to the class teacher.

(3) You will convince them and try to sort out the issue.
(4) You will prohibit both of them.
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